Heg F18O0SHIMEFEY 1 " PKR=E
<8 |18B: 6 B29B (1) 6 8308 (B A=
KRR A |EER—r ZBEEKS
BUF—A| M [BER—TX | s |nmgm—a=z
SN E) BRI —IVICKD (BFEHIRD D)
P BEN— XEBEKIZ Fai8 : 30hKkD (EE8:00)
=Y PEBHSROBHNERZEF —ASZS2BOBLI3RBHE
2 B
A-3
13:30
6/30
A-1 A-2
288 9.00 11:00
6/30 6/30
1a8 6 16 11 3
A-1 A-2
10.00 12.00
6/29 6/29
@ @ © @ Q) ©®
= = = = = I\
JI X0 5g X0 B IR
P = — = . o
R 25 = B f n
| | ] ] 3 ~
_ _ _ _ (=] =z
711"\‘
/r\
e
<188 6/29) > <288 6/30) >
BIEEHE BHEHE BIEEHS BHEHE
N 2% 2% (1 == %) _____
e 1 sl\O (;E% . 2;.2 ® @ 4%
N 2% 2% (1%'3%) _____
%2131 (] (;E% . 2;.2 @ @ 4%
ST — S




1EER A-1

BHEAR—X

(AE3—)LRT—L)

6

=Sa—gR—aX

16

(%) BF -FHG. ). BiL.FHFW). 58 TR HF 56,21
(B =F Rk Mk, T

T FERR). #H#
2h: k. I0ik

HH6F6A29H
SIEHBIKG
BIEEHINEFES 1T KRS

1EEE A-2

(4EIa—JLR T —L)

BHEERAR—rX
ERE-ABEARAR—X

(%) &F Rk, B5 2h: #EIE, 8RR

(#) |F AE. LS, Fie T REERGE)





